

SOME NEW TRAPEZOIDAL TYPE INEQUALITIES FOR STRONGLY GEOMETRIC-ARITHMETICALLY CONVEX FUNCTIONS

A. K. DEMÍREL¹, §

ABSTRACT. This paper considers some preliminary conclusions of Fejér's integral inequality relevant to strongly geometric arithmetic convex functions that is a type of the class of convex functions and also a mapping to produce a novel trapezoidal form. This mapping is used to derive new theorems and results. By utilization these, some applications were given.

Keywords: Trapezoidal type inequalities, strongly convex functions, GA-convex functions, integral inequalities.

AMS Subject Classification: 26D15, 26A51, 26B25.

1. INTRODUCTION

Convexity theory provides an active research area in both pure and practical sciences. The major of these research areas is the theory of inequality. The convexity theory was also essential in broadening and generalizing the inequalities theory. It established various fundamental integral inequalities for convex functions and their variant forms, utilizing diverse concepts and approaches (see [2, 4, 12, 19]).

In usual analysis, a trapezoidal type inequality is an inequality that ensures upper and/or lower bounds for the cardinality

$$\frac{\phi(\sigma) + \phi(\varsigma)}{2}(\varsigma - \sigma) - \int_{\sigma}^{\varsigma} \phi(\eta)d\eta,$$

in other words this is the error in approaching the integral by a trapezoidal rule for diverse types of integrable functions described on the compact interval $[\sigma, \varsigma]$ (see [6]).

There are a lot of studies on trapezoidal type inequalities that have a considerable place in inequality theory. One of the trapezoidal type inequalities studies in the literature belongs to Dragomir and Sofo [8]. They obtained some novel results relevant to the trapezoidal type inequality. Usta et al. [22] suggested refinements inequalities for

¹ Ordu University, Central Research Laboratory, Turkey.
e-mail: aysekubrademirel@gmail.com; ORCID: <https://orcid.org/0000-0002-2389-8699>.

§ Manuscript received: June 10, 2022; accepted: October 11, 2022.

TWMS Journal of Applied and Engineering Mathematics, Vol.14, No.2; © Işık University, Department of Mathematics, 2024; all rights reserved.

the Hermite-Hadamard's type inequality and they specify explicit bounds for the trapezoid inequalities in terms of s -convexity. Mohammed [14] offered some novel trapezoidal type inequalities for h -convex functions via generalized fractional integrals. Delavar and Dragomir [7], using a $M_g(t)$ mapping, obtained some preliminary results and a new trapezoidal form of the Fejér inequality for h -convex functions. Turhan [21] demonstrated a novel trapezoidal form of Fejér inequality relevant to the harmonically arithmetic convex functions. The author also obtained the new theorems and corollaries by usage a mapping $M(t)$. Baleanu et al. [1] demonstrated certain novel generalized fractional inequalities of the trapezoidal type for λ_φ -preinvex functions. They also investigated the novel estimates on trapezoidal type inequalities for usual integral and Riemann–Liouville fractional integrals. Dragomir [5] established some Ostrowski and trapezoidal type inequalities for the $k - g$ -fractional integrals of functions of bounded variation. Kalsoom et al. [11] novel $(p, q)_{\kappa_1}$ -integral and $(p, q)^{\kappa_2}$ -integral identities. By utilizing these identities, they obtained $(p, q)_{\kappa_1}$ and $(p, q)^{\kappa_2}$ - trapezoidal type inequalities for strongly convex and quasi-convex functions. Budak et al. [3] demonstrated an identity for double partially differentiable mappings. By employing this identity, they presented certain generalized inequalities for differentiable coordinated convex functions. Sitthiwiratham et al. [18] proved several trapezoidal and Ostrowski type inequalities via generalized fractional integrals via functions of bounded variations with two variables.

In the next section, we primarily represent the definitions and theorems that will form the basis of the paper.

2. PRELIMINARIES

In 1906, Fejér [9] introduced the following integral inequalities called that the Fejér inequality:

$$\phi\left(\frac{\sigma\varsigma}{2}\right) \leq \int_{\sigma}^{\varsigma} \varphi(\lambda) d\lambda \leq \int_{\sigma}^{\varsigma} \phi(\lambda) \varphi(\lambda) d\lambda \leq \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \varphi(\lambda) d\lambda, \quad (1)$$

where $\phi : [\sigma, \varsigma] \rightarrow \mathbb{R}$ is convex and $\varphi : [\sigma, \varsigma] \rightarrow \mathbb{R}^+ = [0, \infty)$ is integrable and symmetric to $\lambda = \sqrt{\sigma\varsigma}$ ($\varphi(\lambda) = \varphi\left(\frac{\sigma\varsigma}{\lambda}\right)$, $\forall \lambda \in [\sigma, \varsigma]$).

To see some other inequalities relating to Fejér's inequalities see [13, 15, 17, 20, 21] and the references.

Definition 2.1. Let Ω be a interval, $\phi : \Omega \subset \mathbb{R}^+ \rightarrow \mathbb{R}$ is said to be strongly GA-convex function with modulus $c > 0$, if

$$\phi(\lambda^{1-\eta}\kappa^\eta) \leq (1-\eta)\phi(\lambda) + \eta\phi(\kappa) - c\eta(1-\eta)\|\ln\kappa - \ln\lambda\|^2, \quad (2)$$

for all $\lambda, \kappa \in \Omega$ and $\eta \in [0, 1]$.

Definition 2.2. A function $\phi : [\sigma, \varsigma] \rightarrow \mathbb{R}$ is said to satisfy Lipschitz condition (see [16]) on $[\sigma, \varsigma]$ if there is a constant M so that for any two points $\lambda, \kappa \in [\sigma, \varsigma]$,

$$|\phi(\lambda) - \phi(\kappa)| \leq M|\lambda - \kappa|. \quad (3)$$

In [10], The Fejér trapezoid inequality for convex functions was obtained by Hwang as follows:

Theorem 2.1. Let $\phi : \Omega \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be differentiable on Ω^0 , where $\sigma, \varsigma \in \Omega$ with $\sigma < \varsigma$, and let $\varphi : [\sigma, \varsigma] \rightarrow [0, \infty)$ be continuous, positive and symmetric to $\frac{\sigma+\varsigma}{2}$. If $|\phi'|$ is convex

on $[\sigma, \varsigma]$, then the following inequality holds:

$$\begin{aligned} & \left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \varphi(\lambda) d\lambda - \int_{\sigma}^{\varsigma} \phi(\lambda) \varphi(\lambda) d\lambda \right| \\ & \leq \frac{\varsigma - \sigma}{4} [|\phi'(\sigma)| + |\phi'(\varsigma)|] \int_0^1 \int_{B(\sigma, \varsigma, \eta)}^{T(\sigma, \varsigma, \eta)} \varphi(\lambda) d\lambda d\eta, \end{aligned} \tag{4}$$

where $B(\sigma, \varsigma, \eta) = \frac{1+\eta}{2}\sigma + \frac{1-\eta}{2}\varsigma$ and $T(\sigma, \varsigma, \eta) = \frac{1-\eta}{2}\sigma + \frac{1+\eta}{2}\varsigma$.

In [7], The Fejér trapezoid inequality for h -convex functions was obtained by Delavar and Dragomir as follows:

Theorem 2.2. Suppose that $\phi : \Omega \rightarrow \mathbb{R}$ be differentiable on Ω^0 , where $\sigma, \varsigma \in \Omega^0$ with $\sigma < \varsigma$ and let $\varphi : [\sigma, \varsigma] \rightarrow \mathbb{R}^+$ is differentiable and symmetric to $\frac{\sigma+\varsigma}{2}$. If $|\phi'|$ is a h -convex on $[\sigma, \varsigma]$, then

$$\begin{aligned} & \left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \varphi(\lambda) d\lambda - \int_{\sigma}^{\varsigma} \phi(\lambda) \varphi(\lambda) d\lambda \right| \\ & \leq (\varsigma - \sigma) [|\phi'(\sigma)| + |\phi'(\varsigma)|] \int_{\sigma}^{\frac{\sigma+\varsigma}{2}} \int_0^{\frac{\lambda-\sigma}{\varsigma-\sigma}} \varphi(\lambda) [h(\eta) + h(1-\eta)] d\eta d\lambda. \end{aligned} \tag{5}$$

In [21], The Fejér trapezoid inequality for harmonically-convex functions was obtained by Turhan as follows:

Theorem 2.3. Suppose that $\phi : \Omega \rightarrow \mathbb{R} \setminus \{0\}$ is a differentiable on Ω^0 , where $\sigma, \varsigma \in \Omega^0$ with $\sigma < \varsigma$, and let $\varphi : [\sigma, \varsigma] \rightarrow \mathbb{R}$ is differentiable and symmetric to $\frac{2\sigma\varsigma}{\sigma+\varsigma}$. If $|\phi'|$ is a harmonically-convex on $[\sigma, \varsigma]$, then

$$\begin{aligned} & \left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda^2} d\lambda - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda) \varphi(\lambda)}{\lambda^2} d\lambda \right| \\ & \leq (\varsigma - \sigma) \sigma \varsigma \int_{\sigma}^{\frac{2\sigma\varsigma}{\varsigma-\sigma}} \frac{\varphi(\lambda)}{\lambda^2} [A_1(\lambda) |\phi'(\sigma)| + A_2(\lambda) |\phi'(\varsigma)|] d\lambda, \end{aligned} \tag{6}$$

where

$$A_1(\lambda) = \int_0^{\frac{\frac{1}{\sigma}-\frac{1}{\lambda}}{\frac{1}{\sigma}-\frac{1}{\varsigma}}} \frac{\eta}{(\eta\varsigma + (1-\eta)\sigma)^2} d\eta + \int_0^{\frac{\frac{1}{\sigma}-\frac{1}{\lambda}}{\frac{1}{\sigma}-\frac{1}{\varsigma}}} \frac{(1-\eta)}{((1-\eta)\varsigma + \eta\sigma)^2} d\eta$$

and

$$A_2(\lambda) = \int_0^{\frac{\frac{1}{\sigma}-\frac{1}{\lambda}}{\frac{1}{\sigma}-\frac{1}{\varsigma}}} \frac{(1-\eta)}{(\eta\varsigma + (1-\eta)\sigma)^2} d\eta + \int_0^{\frac{\frac{1}{\sigma}-\frac{1}{\lambda}}{\frac{1}{\sigma}-\frac{1}{\varsigma}}} \frac{\eta}{((1-\eta)\varsigma + \eta\sigma)^2} d\eta$$

3. MAIN RESULTS

With respect to a function $\varphi : [\sigma, \varsigma] \rightarrow \mathbb{R}$ contemplate the mapping $\chi : [0, 1] \rightarrow \mathbb{R}$ as follows:

$$\chi(\eta) = \int_{\eta}^1 \varphi(\sigma^{1-s}\varsigma^s) ds - \int_0^{\eta} \varphi(\sigma^{1-s}\varsigma^s) ds. \tag{7}$$

There are some features for $\chi(\eta)$, gathered in the next lemma.

Lemma 3.1. Suppose that $\Omega \subseteq \mathbb{R}^+$ and $\sigma, \varsigma \in \Omega^0$ with $\sigma < \varsigma$ and $\varphi : [\sigma, \varsigma] \subseteq \mathbb{R}^+ \rightarrow \mathbb{R}$ integrable on $[\sigma, \varsigma]$.

(i) If φ is symmetric to $\sqrt{\sigma\varsigma}$, then

$$\chi(\eta) = \begin{cases} 2 \int_{\eta}^{1/2} \varphi(\sigma^{1-s}\varsigma^s) ds, & 0 \leq \eta \leq 1/2, \\ -2 \int_{1/2}^{\eta} \varphi(\sigma^{1-s}\varsigma^s) ds, & 1/2 \leq \eta \leq 1. \end{cases}$$

(ii) For $\eta \in [0, 1]$, $\chi(\eta) + \chi(1 - \eta) = 0$.

(iii) If φ is a nonnegative function, then

$$\begin{cases} \chi(\eta) \geq 0, & 0 \leq \eta \leq 1/2, \\ \chi(\eta) \leq 0, & 1/2 \leq \eta \leq 1. \end{cases}$$

(iv) These inequalities hold:

$$\int_0^1 |\chi(\eta)| d\eta \leq \frac{1}{2} \|\varphi\|_{\infty}$$

and

$$\int_0^1 |\chi(\eta)| d\eta \leq 2 \|\varphi\|_q \int_0^1 \left| \eta - \frac{1}{2} \right|^{1/p} d\eta.$$

(v) Let $\Omega \subseteq \mathbb{R}^+$ and $\phi : \Omega^0 \rightarrow \mathbb{R}$ is a differentiable on Ω^0 , Ω^0 is an interior of Ω and φ is a differentiable. If $\phi' \in L[\sigma, \varsigma]$, then this equality holds:

$$\begin{aligned} & \frac{1}{\ln \varsigma - \ln \sigma} \left[\left(\frac{\phi(\sigma) + \phi(\varsigma)}{2} \right) \int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] \\ &= \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \phi'(\sigma^{1-\eta}\varsigma^{\eta}) \sigma^{1-\eta}\varsigma^{\eta} d\eta. \end{aligned}$$

Proof.

(i) Using the replace of variable $\lambda = \sigma^{1-s}\varsigma^s$ in the description of $\chi(\eta)$, for $0 \leq \eta \leq 1/2$, we obtain

$$\chi(\eta) = \frac{1}{\ln \varsigma - \ln \sigma} \left[\int_{\sigma}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma^{1-\eta}\varsigma^{\eta}}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda \right] \tag{8}$$

where $\sqrt{\sigma\varsigma} \leq \sigma^{1-\eta}\varsigma^{\eta} \leq \varsigma$. Since φ is symmetric to $\sqrt{\sigma\varsigma}$,

$$\int_{\sqrt{\sigma\varsigma}}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda = \int_{\sigma}^{\sqrt{\sigma\varsigma}} \frac{\varphi(\lambda)}{\lambda} d\lambda$$

and so

$$\begin{aligned} \int_{\sigma}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda &= \int_{\sigma}^{\sqrt{\sigma\varsigma}} \frac{\varphi(\lambda)}{\lambda} d\lambda + \int_{\sqrt{\sigma\varsigma}}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda \\ &= \int_{\sqrt{\sigma\varsigma}}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda + \int_{\sqrt{\sigma\varsigma}}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda \end{aligned} \tag{9}$$

On the other hand,

$$\int_{\sqrt{\sigma\varsigma}}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda = \int_{\sqrt{\sigma\varsigma}}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda + \int_{\sigma^{1-\eta}\varsigma^{\eta}}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda \tag{10}$$

If we use (9) and (10) to (8), we get

$$\frac{1}{\ln \varsigma - \ln \sigma} \left[\int_{\sigma}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma^{1-\eta}\varsigma^{\eta}}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda \right] = \frac{2}{\ln \varsigma - \ln \sigma} \int_{\sqrt{\sigma\varsigma}}^{\sigma^{1-\eta}\varsigma^{\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda.$$

Here $\chi(\eta) = 2 \int_{\eta}^{1/2} \varphi(\sigma^{1-s}\zeta^s) ds$, where $1/2 \leq \eta \leq 1$.

(ii) For $\eta \in [0, 1]$,

$$\begin{aligned} \chi(\eta) &= \frac{1}{\ln \zeta - \ln \sigma} \left[\int_{\sigma}^{\sigma^{1-\eta\zeta\eta}} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma^{1-\eta\zeta\eta}}^{\zeta} \frac{\varphi(\lambda)}{\lambda} d\lambda \right] \\ &= \frac{1}{\ln \zeta - \ln \sigma} \left[\int_{\sigma}^{\sigma^{1-\eta\zeta\eta}} \frac{\varphi\left(\frac{\sigma\zeta}{\lambda}\right)}{\lambda} d\lambda - \int_{\sigma^{1-\eta\zeta\eta}}^{\zeta} \frac{\varphi\left(\frac{\sigma\zeta}{\lambda}\right)}{\lambda} d\lambda \right] \\ &= \frac{1}{\ln \zeta - \ln \sigma} \left[\int_{\sigma^{1-\eta\zeta\eta}}^{\zeta} \frac{\varphi\left(\frac{\sigma\zeta}{\lambda}\right)}{\lambda} d\lambda - \int_{\sigma}^{\sigma^{1-\eta\zeta\eta}} \frac{\varphi\left(\frac{\sigma\zeta}{\eta}\right)}{\eta} d\eta \right] = -\chi(1-\eta). \end{aligned}$$

(iii) It is an easy result of the (i) claim.

(iv) With the claim (iii), we have

$$\begin{aligned} \int_0^1 |\chi(\eta)| d\eta &= \int_0^{1/2} \chi(\eta) d\eta - \int_{1/2}^1 \chi(\eta) d\eta \\ &= 2 \int_0^{1/2} \int_{\eta}^{1/2} \varphi(\sigma^{1-s}\zeta^s) ds d\eta + 2 \int_{1/2}^1 \int_{1/2}^{\eta} \varphi(\sigma^{1-s}\zeta^s) ds d\eta \\ &\leq 2 \int_0^{1/2} \int_{\eta}^{1/2} \sup_{s \in [\eta, 1/2]} \varphi(\sigma^{1-s}\zeta^s) ds d\eta + 2 \int_{1/2}^1 \int_{1/2}^{\eta} \sup_{s \in [1/2, \eta]} \varphi(\sigma^{1-s}\zeta^s) ds d\eta \\ &\leq 2 \int_0^{1/2} \left(\frac{1}{2} - \eta\right) \|\varphi\|_{\infty} d\eta + 2 \int_{1/2}^1 \left(\eta - \frac{1}{2}\right) \|\varphi\|_{\infty} d\eta \\ &\leq 2 \|\varphi\|_{\infty} \int_0^1 \left|\eta - \frac{1}{2}\right| d\eta = \frac{1}{2} \|\varphi\|_{\infty}. \end{aligned}$$

For the second part of (iv),

$$\int_0^1 |\chi(\eta)| d\eta = 2 \int_0^1 \left| \int_{\eta}^{1/2} \varphi(\sigma^{1-s}\zeta^s) ds \right| d\eta. \tag{11}$$

Using Hölder’s inequality to the last inequality, we have

$$\begin{aligned} \int_{\eta}^{1/2} \varphi(\sigma^{1-s}\zeta^s) ds &\leq \left| \int_{\eta}^{1/2} ds \right|^{1/p} \left| \int_{\eta}^{1/2} (\varphi(\sigma^{1-s}\zeta^s))^q ds \right|^{1/q} \\ &\leq \left| \eta - \frac{1}{2} \right|^{1/p} \|\varphi\|_q. \end{aligned} \tag{12}$$

Now applying (14) in (13), we get

$$\int_0^1 |\chi(\eta)| d\eta \leq 2 \|\varphi\|_q \int_0^1 \left| \eta - \frac{1}{2} \right|^{1/p} d\eta.$$

(v) First, the equality is calculated as follows:

$$\begin{aligned}
& \int_0^1 \chi(\eta) d(\phi(\sigma^{1-\eta}\zeta^\eta)) \\
&= \frac{1}{\ln \zeta - \ln \sigma} \int_0^1 \left[\int_\sigma^{\sigma^{1-\eta}\zeta^\eta} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma^{1-\eta}\zeta^\eta}^\zeta \frac{\varphi(\lambda)}{\lambda} d\lambda \right] d(\phi(\sigma^{1-\eta}\zeta^\eta)) \\
&= \frac{1}{\ln \zeta - \ln \sigma} \left[\int_0^1 \left(\int_\sigma^{\sigma^{1-\eta}\zeta^\eta} \frac{\varphi(\lambda)}{\lambda} d\lambda \right) d(\phi(\sigma^{1-\eta}\zeta^\eta)) \right. \\
&\quad \left. - \int_0^1 \left(\int_{\sigma^{1-\eta}\zeta^\eta}^\zeta \frac{\varphi(\lambda)}{\lambda} d\lambda \right) d(\phi(\sigma^{1-\eta}\zeta^\eta)) \right] \\
&= \frac{1}{\ln \zeta - \ln \sigma} \left[(\phi(\sigma) + \phi(\zeta)) \int_\sigma^\zeta \frac{\varphi(\lambda)}{\lambda} d\lambda - 2 \int_\sigma^\zeta \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] \\
&= (\ln \zeta - \ln \sigma) \int_0^1 \chi(\eta) \phi'(\sigma^{1-\eta}\zeta^\eta) \sigma^{1-\eta}\zeta^\eta d\eta.
\end{aligned}$$

If we multiply both sides of the above equality by 1/2, the proof is complete. \square

Theorem 3.1. Assume that $\phi : \Omega \subseteq \mathbb{R}^+ \rightarrow \mathbb{R}$ is a differentiable on Ω^0 , $\sigma, \zeta \in \Omega^0$ with $\sigma < \zeta$ and $\varphi : [\sigma, \zeta] \rightarrow \mathbb{R}$ is a differentiable. Suppose that ϕ' is an integrable on $[\sigma, \zeta]$ and there are constants $r < R$ such that

$$-\infty < r \leq \lambda\phi'(\lambda) \leq R < \infty \quad (13)$$

for all $\lambda \in [\ln \sigma, \ln \zeta]$. Then

$$\begin{aligned}
& \left| \frac{1}{\ln \zeta - \ln \sigma} \left[\frac{\phi(\sigma) + \phi(\zeta)}{2} \left(\int_\sigma^\zeta \frac{\varphi(\lambda)}{\lambda} d\lambda \right) \right. \right. \\
&\quad \left. \left. - \int_\sigma^\zeta \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] - \frac{(\ln \zeta - \ln \sigma)(r + R)}{8} \int_0^1 \chi(\eta) d\eta \right| \\
&\leq \frac{(\ln \zeta - \ln \sigma)(R - r)}{8} \int_0^1 |\chi(\eta)| d\eta.
\end{aligned} \quad (14)$$

Proof. From (v) of Lemma 3.1, we obtain

$$\begin{aligned}
& \frac{1}{\ln \zeta - \ln \sigma} \left[\frac{\phi(\sigma) + \phi(\zeta)}{2} \left(\int_\sigma^\zeta \frac{\varphi(\lambda)}{\lambda} d\lambda \right) - \int_\sigma^\zeta \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] \\
&= \frac{\ln \zeta - \ln \sigma}{2} \int_0^1 \chi(\eta) \left(\sigma^{1-\eta}\zeta^\eta \phi'(\sigma^{1-\eta}\zeta^\eta) - \frac{r + R}{4} + \frac{r + R}{4} \right) d\eta \\
&= \frac{(\ln \zeta - \ln \sigma)(r + R)}{8} \int_0^1 \chi(\eta) d\eta \\
&\quad + \frac{\ln \zeta - \ln \sigma}{2} \int_0^1 \chi(\eta) \left(\sigma^{1-\eta}\zeta^\eta \phi'(\sigma^{1-\eta}\zeta^\eta) - \frac{r + R}{4} \right) d\eta.
\end{aligned}$$

As a result of

$$\begin{aligned} J &= \frac{1}{\ln \varsigma - \ln \sigma} \left[\frac{\phi(\sigma) + \phi(\varsigma)}{2} \left(\int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda \right) \right. \\ &\quad \left. - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] - \frac{(\ln \varsigma - \ln \sigma)(r + R)}{8} \int_0^1 \chi(\eta) d\eta \\ &= \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \left(\sigma^{1-\eta} \varsigma^{\eta} \phi'(\sigma^{1-\eta} \varsigma^{\eta}) - \frac{r + R}{4} \right) d\eta. \end{aligned}$$

If the absolute value is used on both sides of the last equation, we obtain

$$|J| \leq \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 |\chi(\eta)| \left| \sigma^{1-\eta} \varsigma^{\eta} \phi'(\sigma^{1-\eta} \varsigma^{\eta}) - \frac{r + R}{4} \right| d\eta,$$

since from the inequality $r \leq \sigma^{1-\eta} \varsigma^{\eta} \phi'(\sigma^{1-\eta} \varsigma^{\eta}) \leq R$, we have

$$r - \frac{r + R}{4} \leq \sigma^{1-\eta} \varsigma^{\eta} \phi'(\sigma^{1-\eta} \varsigma^{\eta}) - \frac{r + R}{4} \leq R - \frac{r + R}{4} \tag{15}$$

which implies that

$$\left| \sigma^{1-\eta} \varsigma^{\eta} \phi'(\sigma^{1-\eta} \varsigma^{\eta}) - \frac{r + R}{4} \right| \leq \frac{R - r}{4}. \tag{16}$$

□

Remark 3.1. If we take g is symmetric to $\sqrt{\sigma\varsigma}$, the from Lemma (3.1), we have

$$\begin{aligned} &\left| \frac{1}{\ln \varsigma - \ln \sigma} \left[\frac{\phi(\sigma) + \phi(\varsigma)}{2} \left(\int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda \right) \right. \right. \\ &\quad \left. \left. - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] - \frac{(\ln \varsigma - \ln \sigma)(r + R)}{8} \int_0^1 \chi(\eta) d\eta \right| \\ &\leq \frac{(\ln \varsigma - \ln \sigma)(R - r)}{8} \|\varphi\|_{\infty}, \end{aligned}$$

and

$$\begin{aligned} &\left| \frac{1}{\ln \varsigma - \ln \sigma} \left[\frac{\phi(\sigma) + \phi(\varsigma)}{2} \left(\int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda \right) \right. \right. \\ &\quad \left. \left. - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right] - \frac{(\ln \varsigma - \ln \sigma)(r + R)}{8} \int_0^1 \chi(\eta) d\eta \right| \\ &\leq \frac{(\ln \varsigma - \ln \sigma)(R - r)}{4} \|\varphi\|_q \int_0^1 \left| \eta - \frac{1}{2} \right|^{\frac{1}{p}} d\eta. \end{aligned}$$

Theorem 3.2. Assume that $\phi : \Omega \subseteq \mathbb{R}^+ \rightarrow \mathbb{R}$ is a differentiable on Ω^0 , $\sigma, \varsigma \in \Omega^0$ with $\sigma < \varsigma$ and $\varphi : [\sigma, \varsigma] \rightarrow \mathbb{R}$ is a differentiable and symmetric to $\sqrt{\sigma\varsigma}$. If $|\phi'|$ is a strongly GA-convex (geometric-arithmetic convex) on $[\sigma, \varsigma]$, then

$$\begin{aligned} &\left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right| \\ &\leq (\ln \varsigma - \ln \sigma) \tag{17} \\ &\quad \cdot \int_{\sigma}^{\sqrt{\sigma\varsigma}} \frac{\varphi(\lambda)}{\lambda} \left[C_1(\lambda) |\phi'(\sigma)| + C_2(\lambda) |\phi'(\varsigma)| - c \|\ln \varsigma - \ln \sigma\|^2 C_3(\lambda) \right] d\lambda \end{aligned}$$

where

$$\begin{aligned} C_1(\lambda) &= \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \eta \sigma^\eta \varsigma^{1-\eta} d\eta + \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 (1-\eta) \sigma^{1-\eta} \varsigma^\eta d\eta, \\ C_2(\lambda) &= \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 (1-\eta) \sigma^\eta \varsigma^{1-\eta} d\eta + \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \eta \sigma^{1-\eta} \varsigma^\eta d\eta, \\ C_3(\lambda) &= \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \eta(1-\eta) \sigma^\eta \varsigma^{1-\eta} d\eta + \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \eta(1-\eta) \sigma^{1-\eta} \varsigma^\eta d\eta. \end{aligned}$$

Proof. Using the description of $\chi(\eta)$, Lemma 3.1 and $|\phi'|$ being a strongly GA-convex function, we obtain

$$\begin{aligned} & \left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda) \varphi(\lambda)}{\lambda} d\lambda \right| \\ &= \frac{(\ln \varsigma - \ln \sigma)^2}{2} \left| \int_0^1 \chi(\eta) \phi'(\sigma^{1-\eta} \varsigma^\eta) \sigma^{1-\eta} \varsigma^\eta d\eta \right| \\ &\leq \frac{(\ln \varsigma - \ln \sigma)^2}{2} \int_0^1 |\chi(\eta)| |\phi'(\sigma^{1-\eta} \varsigma^\eta)| \sigma^{1-\eta} \varsigma^\eta d\eta \\ &\leq (\ln \varsigma - \ln \sigma)^2 \left[\int_0^{\frac{1}{2}} \left(\int_{\eta}^{\frac{1}{2}} \varphi(\sigma^{1-s} \varsigma^s) ds \right) \right. \\ &\times \left. \left[(1-\eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| - c\eta(1-\eta) \|\ln \varsigma - \ln \sigma\|^2 \right] \sigma^{1-\eta} \varsigma^\eta d\eta \right. \\ &\quad \left. + \int_{\frac{1}{2}}^1 \left(\int_{\frac{1}{2}}^1 \varphi(\sigma^{1-s} \varsigma^s) ds \right) \left[(1-\eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| \right. \right. \\ &\quad \left. \left. - c\eta(1-\eta) \|\ln \varsigma - \ln \sigma\|^2 \right] \sigma^{1-\eta} \varsigma^\eta d\eta \right]. \end{aligned} \tag{18}$$

If the order of integration is changed, we get

$$\begin{aligned} & \left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda) \varphi(\lambda)}{\lambda} d\lambda \right| \\ &\leq (\ln \varsigma - \ln \sigma)^2 \left[\int_0^{\frac{1}{2}} \int_0^s \varphi(\sigma^{1-s} \varsigma^s) [(1-\eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| \right. \\ &\quad \left. - c\eta(1-\eta) \|\ln \varsigma - \ln \sigma\|^2] \sigma^{1-\eta} \varsigma^\eta d\eta ds + \int_{\frac{1}{2}}^1 \int_s^1 \varphi(\sigma^{1-s} \varsigma^s) \right. \\ &\quad \left. \times [(1-\eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| - c\eta(1-\eta) \|\ln \varsigma - \ln \sigma\|^2] \sigma^{1-\eta} \varsigma^\eta d\eta ds \right]. \end{aligned}$$

Using the alter of variable $\lambda = \sigma^{1-s} \varsigma^s$, we obtain

$$\begin{aligned} & \left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_{\sigma}^{\varsigma} \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_{\sigma}^{\varsigma} \frac{\phi(\lambda) \varphi(\lambda)}{\lambda} d\lambda \right| \\ &= (\ln \varsigma - \ln \sigma) \left[\int_{\sqrt{\sigma\varsigma}}^{\varsigma} \int_0^{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}} \frac{\varphi(\lambda)}{\lambda} [(1-\eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| \right. \\ &\quad \left. - c\eta(1-\eta) \|\ln \varsigma - \ln \sigma\|^2] \sigma^{1-\eta} \varsigma^\eta d\eta dx + \int_{\sigma}^{\sqrt{\sigma\varsigma}} \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \frac{\varphi(\lambda)}{\lambda} \right. \end{aligned}$$

$$\times \left[(1 - \eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| - c\eta(1 - \eta) \|\ln \varsigma - \ln \sigma\|^2 \right] \sigma^{1-\eta} \varsigma^\eta d\eta dx \Big]. \tag{19}$$

Since $\varphi(\lambda)$ function is symmetric to $\sqrt{\sigma\varsigma}$, then

$$\begin{aligned} & \int_{\sqrt{\sigma\varsigma}}^\varsigma \int_0^{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}} \frac{\varphi(\lambda)}{\lambda} [(1 - \eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| \\ & - c\eta(1 - \eta) \|\ln \varsigma - \ln \sigma\|^2] \sigma^{1-\eta} \varsigma^\eta d\eta dx = \int_\sigma^{\sqrt{\sigma\varsigma}} \int_0^{\frac{\ln \varsigma - \ln \lambda}{\ln \varsigma - \ln \lambda}} \frac{\varphi(\lambda)}{\lambda} \\ & \times \left[(1 - \eta) |\phi'(\sigma)| + \eta |\phi'(\varsigma)| - c\eta(1 - \eta) \|\ln \varsigma - \ln \sigma\|^2 \right] \sigma^{1-\eta} \varsigma^\eta d\eta dx. \end{aligned} \tag{20}$$

Additionally it is not difficult to see that,

$$\begin{aligned} & \int_0^{\frac{\ln \varsigma - \ln \lambda}{\ln \varsigma - \ln \sigma}} (1 - \eta) \sigma^{1-\eta} \varsigma^\eta d\eta = \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \eta \sigma^\eta \varsigma^{1-\eta} d\eta, \\ & \int_0^{\frac{\ln \varsigma - \ln \lambda}{\ln \varsigma - \ln \sigma}} \eta \sigma^{1-\eta} \varsigma^\eta d\eta = \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 (1 - \eta) \sigma^\eta \varsigma^{1-\eta} d\eta, \\ & \int_0^{\frac{\ln \varsigma - \ln \lambda}{\ln \varsigma - \ln \sigma}} \eta (1 - \eta) \sigma^{1-\eta} \varsigma^\eta d\eta = \int_{\frac{\ln \lambda - \ln \sigma}{\ln \varsigma - \ln \sigma}}^1 \eta (1 - \eta) \sigma^\eta \varsigma^{1-\eta} d\eta. \end{aligned}$$

By using (20), (19) and (18) to (17), then we complete this proof. □

Theorem 3.3. *Let $\phi : \Omega \subseteq \mathbb{R}^+ \rightarrow \mathbb{R}$ be differentiable on Ω^0 , $\sigma, \varsigma \in \Omega^0$ with $\sigma < \varsigma$ and let $\varphi : [\sigma, \varsigma] \rightarrow \mathbb{R}$ nonnegative and integrable that is differentiable on (σ, ς) . Supposing that ϕ' is an integrable on $[\sigma, \varsigma]$ and satisfies a Lipschitz condition for some $M > 0$. Then*

$$\begin{aligned} & \left| \frac{1}{\ln \varsigma - \ln \sigma} \left(\frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_\sigma^\varsigma \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_\sigma^\varsigma \frac{\phi(\lambda) \varphi(\lambda)}{\lambda} d\lambda \right) \right. \\ & \quad \left. - \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \sigma^{1-\eta} \varsigma^\eta \phi'(\sqrt{\sigma\varsigma}) d\eta \right| \\ & \leq \frac{M (\ln \varsigma - \ln \sigma) \sqrt{\sigma\varsigma}}{2} \int_0^1 |\chi(\eta)| \left| \sigma^{1-\eta} \varsigma^\eta \left(\sigma^{\frac{1}{2}-\eta} \varsigma^{\eta-\frac{1}{2}} - 1 \right) \right| d\eta. \end{aligned}$$

Proof. By using (v) of Lemma 3.1, we get

$$\begin{aligned} & \frac{1}{\ln \varsigma - \ln \sigma} \left(\frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_\sigma^\varsigma \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_\sigma^\varsigma \frac{\phi(\lambda) \varphi(\lambda)}{\lambda} d\lambda \right) \\ & = \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \sigma^{1-\eta} \varsigma^\eta [\phi'(\sigma^{1-\eta} \varsigma^\eta) - \phi'(\sqrt{\sigma\varsigma}) + \phi'(\sqrt{\sigma\varsigma})] d\eta \\ & = \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \sigma^{1-\eta} \varsigma^\eta [\phi'(\sigma^{1-\eta} \varsigma^\eta) - \phi'(\sqrt{\sigma\varsigma})] d\eta \\ & \quad + \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \sigma^{1-\eta} \varsigma^\eta \phi'(\sqrt{\sigma\varsigma}) d\eta. \end{aligned} \tag{21}$$

From the last equality, we obtain

$$\begin{aligned} & \left| \frac{1}{\ln \varsigma - \ln \sigma} \left(\frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_\sigma^\varsigma \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_\sigma^\varsigma \frac{\phi(\lambda) \varphi(\lambda)}{\lambda} d\lambda \right) \right. \\ & \quad \left. - \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \sigma^{1-\eta} \varsigma^\eta \phi'(\sqrt{\sigma\varsigma}) d\eta \right| \end{aligned}$$

$$= \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 |\chi(\eta)| \sigma^{1-\eta} \varsigma^\eta |\phi'(\sigma^{1-\eta} \varsigma^\eta) - \phi'(\sqrt{\sigma\varsigma})| d\eta.$$

If ϕ' satisfies a Lipschitz condition as (3) for some $M > 0$, then

$$\begin{aligned} |\phi'(\sigma^{1-\eta} \varsigma^\eta) - \phi'(\sqrt{\sigma\varsigma})| &\leq M \left| \sigma^{1-\eta} \varsigma^\eta - \sigma^{\frac{1}{2}} \varsigma^{\frac{1}{2}} \right| \\ &= M (\sqrt{\sigma\varsigma}) \left| \sigma^{\frac{1}{2}-\eta} \varsigma^{\eta-\frac{1}{2}} - 1 \right|. \end{aligned} \quad (22)$$

Because of this inequality, the proof is completed. \square

Remark 3.2. In Theorem 3.3, assume that φ is symmetric to $\sqrt{\sigma\varsigma}$. If we use (i) of Lemma 3.1, we obtain

$$\begin{aligned} &\left| \frac{1}{\ln \varsigma - \ln \sigma} \left(\frac{\phi(\sigma) + \phi(\varsigma)}{2} \int_\sigma^\varsigma \frac{\varphi(\lambda)}{\lambda} d\lambda - \int_\sigma^\varsigma \frac{\phi(\lambda)\varphi(\lambda)}{\lambda} d\lambda \right) \right. \\ &\quad \left. - \frac{\ln \varsigma - \ln \sigma}{2} \int_0^1 \chi(\eta) \sigma^{1-\eta} \varsigma^\eta \phi'(\sqrt{\sigma\varsigma}) d\eta \right| \\ &\leq M (\ln \varsigma - \ln \sigma) \sqrt{\sigma\varsigma} \int_0^1 \left| \int_\eta^{1/2} \varphi(\varsigma^{1-s} \varsigma^s) \right| \left| \sigma^{1-\eta} \varsigma^\eta \left(\sigma^{\frac{1}{2}-\eta} \varsigma^{\eta-\frac{1}{2}} - 1 \right) \right| ds d\eta \\ &\leq M (\ln \varsigma - \ln \sigma) \sqrt{\sigma\varsigma} \int_0^1 \sup_{s \in [\eta, 1/2]} |\varphi(\sigma^{1-s} \varsigma^s)| \\ &\quad \cdot \left| \frac{1}{2} - \eta \right| \inf_{\eta \in [0, 1]} \left| \sigma^{1-\eta} \varsigma^\eta \left(\sigma^{\frac{1}{2}-\eta} \varsigma^{\eta-\frac{1}{2}} - 1 \right) \right| ds d\eta \\ &\leq M (\ln \varsigma - \ln \sigma) \sqrt{\sigma\varsigma} \left(\sigma^{3/2} \varsigma^{-1/2} - \sigma \right) \|\varphi\|_\infty \int_0^1 \left(\frac{1}{2} - \eta \right)^2 d\eta \\ &= \frac{M (\ln \varsigma - \ln \sigma) (\sigma^2 - \sigma\sqrt{\sigma\varsigma}) \|\varphi\|_\infty}{12}. \end{aligned} \quad (23)$$

Corollary 3.1. In Theorem 3.3, if $\varphi(\lambda) = 1$ is taken for all $\lambda \in [\sigma, \varsigma]$, then

$$\begin{aligned} &\left| \frac{\phi(\sigma) + \phi(\varsigma)}{2} - \frac{1}{\ln \varsigma - \ln \sigma} \int_\sigma^\varsigma \frac{\phi(\lambda)}{\lambda} d\lambda \right| \\ &\leq \frac{M (\ln \varsigma - \ln \sigma) (\sigma^2 - \sigma\sqrt{\sigma\varsigma}) \|\varphi\|_\infty}{12} + \frac{\sigma (\ln \varsigma - \ln \sigma)}{2} |\phi'(\sqrt{\sigma\varsigma})|. \end{aligned} \quad (24)$$

4. APPLICATION

In the literature, the following means for real numbers $\sigma, \varsigma \in \mathbb{R}$ are well known:

(1) The arithmetic mean:

$$A = A(\sigma, \varsigma) = \frac{\sigma + \varsigma}{2}; \quad \sigma, \varsigma \in \mathbb{R}$$

(2) The geometric mean:

$$G = G(\sigma, \varsigma) = \sqrt{\sigma\varsigma}; \quad \sigma, \varsigma \in [0, \infty)$$

(3) The harmonic mean:

$$H = H(\sigma, \varsigma) = \frac{2\sigma\varsigma}{\sigma + \varsigma}; \quad \sigma, \varsigma \in \mathbb{R}$$

(4) The generalized logarithmic mean:

$$L_n(\sigma, \varsigma) = \left[\frac{\varsigma^{n+1} - \sigma^{n+1}}{(\varsigma - \sigma)(n + 1)} \right]^{\frac{1}{n}}; \quad n \in \mathbb{Z} \setminus \{-1, 0\}, \sigma, \varsigma \in \mathbb{R}, \sigma \neq \varsigma$$

Proposition 4.1. *Let $\sigma, \varsigma \in (0, \infty), \sigma < \varsigma$ and $r > 2$. Then*

$$\begin{aligned} & |A(\sigma^r, \varsigma^r)(\ln \varsigma - \ln \sigma) - (\varsigma - \sigma) L_{r-1}^{r-1}(\sigma, \varsigma)| \\ & \leq (\ln \varsigma - \ln \sigma) \int_{\sigma}^{\sqrt{\sigma\varsigma}} \frac{1}{\lambda} \left[C_1(\lambda) |\phi'(\sigma)| + C_2(\lambda) |\phi'(\varsigma)| - c \|\ln \varsigma - \ln \sigma\|^2 C_3(\lambda) \right] d\lambda. \end{aligned} \quad (25)$$

Proof. In Theorem 3.2, $\phi(\lambda) = \lambda^r$ and $\varphi(\lambda) = 1, \lambda \in (0, \infty), r > 2$.

$$\begin{aligned} & \left| \frac{\sigma^r + \varsigma^r}{2} \int_{\sigma}^{\varsigma} \frac{1}{\lambda} d\lambda - \int_{\sigma}^{\varsigma} \frac{\lambda^r}{\lambda} d\lambda \right| = \left| A(\sigma^r, \varsigma^r)(\ln \varsigma - \ln \sigma) - \frac{\varsigma^r - \sigma^r}{r} \right| \\ & = |A(\sigma^r, \varsigma^r)(\ln \varsigma - \ln \sigma) - (\varsigma - \sigma) L_{r-1}^{r-1}(\sigma, \varsigma)| \\ & \quad |A(\sigma^r, \varsigma^r)(\ln \varsigma - \ln \sigma) - (\varsigma - \sigma) L_{r-1}^{r-1}(\sigma, \varsigma)| \\ & \leq (\ln \varsigma - \ln \sigma) \int_{\sigma}^{\sqrt{\sigma\varsigma}} \frac{1}{\lambda} \left[C_1(\lambda) |\phi'(\sigma)| + C_2(\lambda) |\phi'(\varsigma)| - c \|\ln \varsigma - \ln \sigma\|^2 C_3(\lambda) \right] d\lambda. \end{aligned} \quad (26)$$

□

REFERENCES

- [1] Baleanu, D., Mohammed, P. O. and Zeng, S., (2020), Inequalities of trapezoidal type involving generalized fractional integrals, *Alex. Eng. J.*, 59 (5), pp. 2975-2984.
- [2] Baleanu, D., Kashuri, A., Mohammed, P. O. and Meftah, B., (2021), General Raina fractional integral inequalities on coordinates of convex functions, *Adv. Differ. Equ.*, 2021 (82), pp. 1-23.
- [3] Budak, H., Hezenci, F. and Kara, H., (2021), On generalized Ostrowski, Simpson and trapezoidal type inequalities for co-ordinated convex functions via generalized fractional integrals, *Adv. Differ. Equ.*, 2021 (312), pp. 1-32.
- [4] Chen, F. and Wu, S., (2014), Fejér and Hermite-Hadamard type inequalities for harmonically convex functions, *J. Appl. Maths.*, Article ID 386806, pp. 6.
- [5] Dragomir, S. S., (2019), Ostrowski and trapezoid type inequalities for the generalized $k - g$ -fractional integrals of functions with bounded variation, *Commun. Advanced Math. Sci.*, 2 (4), pp. 309-330.
- [6] Dragomir, S. S., (2011), Operator inequalities of Ostrowski and trapezoidal type, *SSBM*.
- [7] Delavar, M. R. and Dragomir, S. S., (2019), Trapezoidal type inequalities related to h -convex functions with applications, *RACSAM*, 113 (2), pp. 1487-1498.
- [8] Dragomir, S. S. and Sofo, A., (2008), Trapezoidal type inequalities for n -time differentiable functions, *J. Appl. Comput.*, 28 (1), pp. 367-379.
- [9] Fejér, L., (1906), Über die fourierreihen, II. *Math. Naturwiss. Anz Ungar. Akad. Wiss.*, 24, pp. 369-390.
- [10] Hwang, D. Y., (2011), Some inequalities for differentiable convex mapping with application to weighted trapezoidal formula and higher moments of random variable, *Appl. Maths. Comput.*, 217 (23), pp. 9598-9605.
- [11] Kalsoom, H., Cortez, M. V. and Latif, M. A., (2021), Trapezoidal-type inequalities for strongly convex and quasi-convex functions via post-quantum calculus, *Entropy*, 23 (10), pp. 1238.
- [12] Khan, M. B., Mohammed, P. O., Machado, J. A. T. and Guirao, J. L. G., (2021), Integral inequalities for generalized harmonically convex functions Fuzzy-interval-valued settings, *Symmetry*, 13 (12), pp. 2352.
- [13] Kunt, M. and İşcan, İ., (2018), Hermite-Hadamard-Fejér type inequalities for p -convex functions via fractional integrals, *Iran J. Sci. Technol. Trans. A-Sci.*, 42 (4), pp. 2079-2089.
- [14] Mohammed, P. O., (2018), On new trapezoid type inequalities for h -convex functions via generalized fractional integral, *Turk. J. Anal. Number Theory*, 6 (4), pp. 125-128.

- [15] Park, J., (2014), Inequalities of Hermite-Hadamard-Fejér type for convex functions via fractional integrals, *Int. J. Math. Anal.*, 8 (59), pp. 2927-2937.
 - [16] Robert, A. W. and Varbeg, D. E., (1973), *Convex functions*, Academic Press San Diego, California, USA.
 - [17] Sarıkaya, M. Z., Ertuğral, F. and Yıldırım, F., (2018), On the Hermite-Hadamard-Fejér type integral inequality for s -convex function, *Konuralp J. Maths.*, 6 (1), pp. 35-41.
 - [18] Sitthiwirattam, T., Budak, H., Kara, H., Ali, M. A. and Reunsumrit, J., (2021), On some new fractional Ostrowski and trapezoid type inequalities for functions of bounded variations with two variables, *Symmetry*, 13 (9), pp. 1724.
 - [19] Tariq, M., Nasir, J., Sahoo, S. K. and Mallah, A. A., (2021), A note on some Ostrowski type inequalities via generalized exponentially convex functions, *J. Math. Anal. and Model.*, 2(2), pp. 1-15.
 - [20] Tseng, K. L., Hwang, S. R. and Dragomir, S. S., (2007), On some new inequalities of Hermite-Hadamard-Fejér type involving convex functions, *Demonstratio Mathematica*, 40 (1), pp. 51-64.
 - [21] Turhan, S., (2019), Trapezoidal type Fejér inequalities related to harmonically convex functions and application, *J. Funct. Spaces*, , Article ID 9508625, pp. 8.
 - [22] Usta, F., Budak, H., Sarıkaya, M. Z. and Set, E., (2018), On generalization of trapezoid type inequalities for s -convex functions with generalized fractional integral operators, *Filomat*, 32 (6), pp. 2153-2171.
-
-



Ayşe Kübra Demirel graduated from the Faculty of Science of the Van Yüzüncü Yıl University in 2012. She received her Ph.D. degree on Mathematics from the Institute of Science of Ordu University in 2019. Presently, she is a lecturer in the Central Research Laboratory of Ordu University. Her research interests include analysis and inequalities.
